
PROJECTORS
Line-up Catalog  January 2023

Casa Batlio, Spain

Melbourne Museum’s Tyama, Austrailia

Grundfoss, Denmark



















PT-EZ590
PT-EZ590L5

PT-EW650
PT-EW650L5

PT-EW550
PT-EW550L5

PT-EX620
PT-EX620L5

PT-EX520
PT-EX520L5

Projector type LCD Projector LCD Projector LCD Projector LCD Projector LCD Projector
LCD panel Panel size 16.3 mm (0.64 in) 16.3 mm (0.64 in) 16.3 mm (0.64 in) 16.0 mm (0.63 in) 16.0 mm (0.63 in)

Aspect ratio 16:10 16:10 16:10 4:3 4:3
Number of pixels 2,304,000 (1,920 x 1,200) pixels 1,024,000 (1,280 x 800) pixels 1,024,000 (1,280 x 800) pixels 786,432 (1,024 x 768) pixels 786,432 (1,024 x 768) pixels

Light source 320 W UHM Lamp 320 W UHM Lamp 320 W UHM Lamp 320 W UHM Lamp 320 W UHM Lamp
Light output 5,400 lm 5,800 lm 5,000 lm 6,200 lm 5,300 lm
Time until light output 
declines to 50%1

4,000 hours (NORMAL)/
5,000 hours (ECO)

4,000 hours (NORMAL)/
5,000 hours (ECO)

4,000 hours (NORMAL)/
5,000 hours (ECO)

4,000 hours (NORMAL)/
5,000 hours (ECO)

4,000 hours (NORMAL)/
5,000 hours (ECO)

Resolution WUXGA (1,920 x 1,200) WXGA (1,280 x 800) WXGA (1,280 x 800) XGA (1,024 x 768) XGA (1,024 x 768)
Contrast ratio (full on/full o!) 10,000:1 10,000:1 2,000:1 10,000:1 2,000:1
Screen size (diagonal) 1.02-10.16 m (40-400 in) 1.02-10.16 m (40-400 in) 1.02-10.16 m (40-400 in) 1.02-10.16 m (40-400 in) 1.02-10.16 m (40-400 in)
Lens (throw ratio) F 1.6-2.2, f 17.1-31.7 mm (1.22-2.26:1) (PT-EZ590) F 1.6-2.2, f 17.1-31.7 mm (1.22-2.26:1) (PT-EW650) F 1.6-2.2, f 17.1-31.7 mm (1.22-2.26:1) (PT-EW550) F 1.6-2.2, f 17.1-31.7 mm (1.32-2.44:1) (PT-EX620) F 1.6-2.2, f 17.1-31.7 mm (1.32-2.44:1) (PT-EX520)
Lens shift Vertical: ±60 %,

Horizontal: ±30 % (powerd)
Vertical: ±60 %,
Horizontal: ±30 % (powerd)

Vertical: ±60 %,
Horizontal: ±30 % (powerd)

Vertical: ±50 %,
Horizontal: ±30 % (powerd)

Vertical: ±50 %,
Horizontal: ±30 % (powerd)

Filter Replacement Cycle 15,000 hours 15,000 hours 15,000 hours 15,000 hours 15,000 hours
Installation Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear
Terminals HDMI in [HDMI 19-pin x 1]

RGB 1 in [BNC x 5]
RGB 2 in [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Monitor out [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
Remote 1 in [D-sub 9-pin x 1]
Remote 2 in [M3 x 1]
LAN [RJ-45 x 1]
LAN/DIGITAL LINK [RJ-45 x 1]
DC out [USB type-A x 1
 (for power supply (DC 5 V, up to 900 mA))]
Wireless Module connecting
 [USB type-A x 1 (for ET-WML1007)]

HDMI in [HDMI 19-pin x 1]
RGB 1 in [BNC x 5]
RGB 2 in [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Monitor out [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
Remote 1 in [D-sub 9-pin x 1]
Remote 2 in [M3 x 1]
LAN [RJ-45 x 1]
LAN/DIGITAL LINK [RJ-45 x 1]
DC out [USB type-A x 1
 (for power supply (DC 5 V, up to 900 mA))]
Wireless Module connecting
 [USB type-A x 1 (for ET-WML1007)]

HDMI in [HDMI 19-pin x 1]
RGB 1 in [BNC x 5]
RGB 2 in [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Monitor out [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
Remote 1 in [D-sub 9-pin x 1]
Remote 2 in [M3 x 1]
LAN [RJ-45 x 1]
DC out [USB type-A x 1
 (for power supply (DC 5 V, up to 900 mA))]
Wireless Module connecting
 [USB type-A x 1 (for ET-WML1007)]

HDMI in [HDMI 19-pin x 1]
RGB 1 in [BNC x 5]
RGB 2 in [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Monitor out [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
Remote 1 in [D-sub 9-pin x 1]
Remote 2 in [M3 x 1]
LAN [RJ-45 x 1]
LAN/DIGITAL LINK [RJ-45 x 1]
DC out [USB type-A x 1
 (for power supply (DC 5 V, up to 900 mA))]
Wireless Module connecting
 [USB type-A x 1 (for ET-WML1007)]

HDMI in [HDMI 19-pin x 1]
RGB 1 in [BNC x 5]
RGB 2 in [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Monitor out [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
Remote 1 in [D-sub 9-pin x 1]
Remote 2 in [M3 x 1]
LAN [RJ-45 x 1]
DC out [USB type-A x 1
 (for power supply (DC 5 V, up to 900 mA))]
Wireless Module connecting
 [USB type-A x 1 (for ET-WML1007)]

Power supply 100-240 V AC, 5.5-2.3 A, 50/60 Hz 100-240 V AC, 5.3-2.1 A, 50/60 Hz 100-240 V AC, 5.3-2.1 A, 50/60 Hz 100-240 V AC, 5.3-2.1 A, 50/60 Hz 100-240 V AC, 5.3-2.1 A, 50/60 Hz
Maximum power consumption 484 W 461 W 461 W 461 W 461 W
BTU value Max. 1,651 BTU Max. 1,573 BTU Max. 1,573 BTU Max. 1,573 BTU Max. 1,573 BTU
Built-in speaker 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural)
Operation noise 35 dB (NORMAL)/29 dB (ECO) 35 dB (NORMAL)/29 dB (ECO) 35 dB (NORMAL)/29 dB (ECO) 35 dB (NORMAL)/29 dB (ECO) 35 dB (NORMAL)/29 dB (ECO)
Dimensions (W x H2 x D3) 498 x 145 x 398.3 mm

(19-19/32 x 5-23/32 x 15-11/16 in)
498 x 145 x 398.3 mm
(19-19/32 x 5-23/32 x 15-11/16 in)

498 x 145 x 398.3 mm
(19-19/32 x 5-23/32 x 15-11/16 in)

498 x 145 x 398.3 mm
(19-19/32 x 5-23/32 x 15-11/16 in)

498 x 145 x 398.3 mm
(19-19/32 x 5-23/32 x 15-11/16 in)

Weight4 Approx. 8.4 kg/18.5 lbs (7.7 kg/17.0 lbs5) Approx. 8.4 kg/18.5 lbs (7.7 kg/17.0 lbs5) Approx. 8.4 kg/18.5 lbs (7.7 kg/17.0 lbs5) Approx. 8.4 kg/18.5 lbs (7.7 kg/17.0 lbs5) Approx. 8.4 kg/18.5 lbs (7.7 kg/17.0 lbs5)
Replacement lamp ET-LAEF100 ET-LAEF100 ET-LAEF100 ET-LAEF100 ET-LAEF100

Optional accessories ET-PKD120H (High ceiling mount bracket)
ET-PKD120S (Low ceiling mount bracket)
ET-PKE300B (Bracket assembly)
ET-RFE300 (Replacement filter unit)
ET-YFB200G (DIGITAL LINK Switcher)
ET-YFB100G (Digital Interface Box)
ET-WML100 (Wireless Module)7

ET-PKD120H (High ceiling mount bracket)
ET-PKD120S (Low ceiling mount bracket)
ET-PKE300B (Bracket assembly)
ET-RFE300 (Replacement filter unit)
ET-YFB200G (DIGITAL LINK Switcher)
ET-YFB100G (Digital Interface Box)
ET-WML100 (Wireless Module)7

ET-PKD120H (High ceiling mount bracket)
ET-PKD120S (Low ceiling mount bracket)
ET-PKE300B (Bracket assembly)
ET-RFE300 (Replacement filter unit)
ET-WML100 (Wireless Module)7

ET-PKD120H (High ceiling mount bracket)
ET-PKD120S (Low ceiling mount bracket)
ET-PKE300B (Bracket assembly)
ET-RFE300 (Replacement filter unit)
ET-YFB200G (DIGITAL LINK Switcher)
ET-YFB100G (Digital Interface Box)
ET-WML100 (Wireless Module)7

ET-PKD120H (High ceiling mount bracket)
ET-PKD120S (Low ceiling mount bracket)
ET-PKE300B (Bracket assembly)
ET-RFE300 (Replacement filter unit)
ET-WML100 (Wireless Module)7

Optional lens Yes (see the Optional Lenses page: P43) Yes (see the Optional Lenses page: P43) Yes (see the Optional Lenses page: P43) Yes (see the Optional Lenses page: P43) Yes (see the Optional Lenses page: P43)

5,400 lm 5,800 lm 5,000 lm 6,200 lm 5,300 lmWUXGA WXGA WXGA XGA XGA

6 6 6 6 6

1: The usage environment affects the lamp replacement cycle. 
2: Height: with legs at shortest position. 
3: Depth: including the supplied lens. Depth: 358 mm (14-3/32 inches) for the lens-less models.

4: Average value. Each product has an individual variable in weight. 
5: Lens-less model. 
6: The optional ET-WML100 Wireless Module is required. 7: Limited stock.

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e

Installation

17 18







PT-LMZ460 PT-LMZ420 PT-LMW460 PT-LMW420

Projector type LCD Projector LCD Projector LCD Projector LCD Projector

LCD panel Panel size 16.3 mm (0.64 in) 16.3 mm (0.64 in) 16.3 mm (0.64 in) 16.3 mm (0.64 in)

Aspect ratio 16:10 16:10 16:10 16:10

Number of pixels 2,304,000 (1,920 x 1,200) pixels 2,304,000 (1,920 x 1,200) pixels 1,024,000 (1,280 x 800) pixels 1,024,000 (1,280 x 800) pixels

Light source Laser diode Laser diode Laser diode Laser diode

Light output 4,600 lm 4,200 lm 4,600 lm 4,200 lm

Time until light output 
declines to 50%

20,000 hours (NORMAL)5 20,000 hours (NORMAL)5 20,000 hours (NORMAL)5 20,000 hours (NORMAL)5

Resolution WUXGA (1,920 x 1,200) WUXGA (1,920 x 1,200) WXGA (1,280 x 800) WXGA (1,280 x 800)

Contrast ratio (full on/full o!) 3,000,000:1 3,000,000:1 3,000,000:1 3,000,000:1

Screen size (diagonal) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in)

Lens (throw ratio) F 1.61-1.76, f 19.10-23.0 mm (1.36-1.64:1) F 1.61-1.76, f 19.10-23.0 mm (1.36-1.64:1) F 1.61-1.76, f 19.10-23.0 mm (1.36-1.64:1) F 1.61-1.76, f 19.10-23.0 mm (1.36-1.64:1)

Lens shift - [fixed] - [fixed] - [fixed] - [fixed]

Filter Replacement Cycle 20,000 hours 20,000 hours 20,000 hours 20,000 hours

Installation Ceiling/floor, front/rear, 
free 360-degree installation

Ceiling/floor, front/rear, 
free 360-degree installation

Ceiling/floor, front/rear, 
free 360-degree installation

Ceiling/floor, front/rear, 
free 360-degree installation

Terminals HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 (for Memory Viewer/
 power supply (DC 5 V, up to 2 A)/
 optional Wireless Module)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 (for Memory Viewer/
 power supply (DC 5 V, up to 2 A)/
 optional Wireless Module)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 (for Memory Viewer/
 power supply (DC 5 V, up to 2 A)/
 optional Wireless Module)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 (for Memory Viewer/
 power supply (DC 5 V, up to 2 A)/
 optional Wireless Module)]

Power supply 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz
Maximum power consumption 240 W 240 W 230 W 230 W

Built-in speaker 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural)

Operation noise 35 dB (NORMAL/ECO)/24 dB (QUIET) 33 dB (NORMAL/ECO)/23 dB (QUIET) 35 dB (NORMAL/ECO)/24 dB (QUIET) 33 dB (NORMAL/ECO)/23 dB (QUIET)

Dimensions (W x H1 x D) 349 x 105 x 309 mm
(13-3/4 x 4-1/8 x 12-5/32 in)

349 x 105 x 309 mm
(13-3/4 x 4-1/8 x 12-5/32 in)

349 x 105 x 309 mm
(13-3/4 x 4-1/8 x 12-5/32 in)

349 x 105 x 309 mm
(13-3/4 x 4-1/8 x 12-5/32 in)

Weight2 Approx. 4.2 kg/9.26 lbs Approx. 4.2 kg/9.26 lbs Approx. 4.2 kg/9.26 lbs Approx. 4.2 kg/9.26 lbs

Replacement lamp - (No lamp) - (No lamp) - (No lamp) - (No lamp)

Optional accessories ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL400 (Replacement filter unit)
AJ-WM50 (Wireless Module)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL400 (Replacement filter unit)
AJ-WM50 (Wireless Module)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL400 (Replacement filter unit)
AJ-WM50 (Wireless Module)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL400 (Replacement filter unit)
AJ-WM50 (Wireless Module)

1: Height: with legs at shortest position. 2: Average value. Each product has an individual variable in weight. 
3: Input signals are converted to the projector’s display resolution upon playback. 4K/30p signals are supported via HDMI.
4: The optional Wireless Module is required.

5: After approximately 20,000 hours, cleaning needs to be performed (by the vendor which you purchased from). The light 
source’s lifetime may be shortened due to environmental conditions and operating mode. 

NEWNEW NEW

33 3

NEW

3

4,200 lm WXGA

4

4,600 lm4,200 lm4,600 lm WXGAWUXGAWUXGA

4 4 4

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e

Portable

23 24



1: Height: with legs at shortest position. 2: Average value. Each product has an individual variable in weight. 
3: Input signals are converted to the projector’s display resolution upon playback. 4K/30p signals are supported via HDMI. 
4: The optional Wireless Module is required.

5: After approximately 20,000 hours, cleaning needs to be performed (by the vendor which you purchased from). The light
source’s lifetime may be shortened due to environmental conditions and operating mode. 6: The usage environment affects 
the lamp replacement cycle.

PT-LMX460 PT-LMX420 PT-VZ585N PT-VZ580

Projector type LCD Projector LCD Projector LCD Projector LCD Projector

LCD panel Panel size 16.3 mm (0.64 in) 16.3 mm (0.64 in) 16.3 mm (0.64 in) 16.3 mm (0.64 in)

Aspect ratio 16:10 16:10 16:10 16:10

Number of pixels 786,432 (1,024 x 768) pixels 786,432 (1,024 x 768) pixels 2,304,000 (1,920 x 1,200) pixels 2,304,000 (1,920 x 1,200) pixels

Light source Laser diode Laser diode 280 W UHM Lamp 280 W UHM Lamp

Light output 4,600 lm 4,200 lm 5,000 lm 5,000 lm

Time until light output 
declines to 50%

20,000 hours (NORMAL)5 20,000 hours (NORMAL)5 5,000 hours (NORMAL)/6,000 hours (ECO1)/
7,000 hours (ECO2)6

5,000 hours (NORMAL)/6,000 hours (ECO1)/
7,000 hours (ECO2)6

Resolution XGA (1,024 x 768) XGA (1,024 x 768) WUXGA (1,920 x 1,200) WUXGA (1,920 x 1,200)

Contrast ratio (full on/full o!) 3,000,000:1 3,000,000:1 16,000:1 16,000:1

Screen size (diagonal) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in)

Lens (throw ratio) F 1.61-1.76, f 19.10-23.0 mm (1.36-1.64:1) F 1.61-1.76, f 19.10-23.0 mm (1.36-1.64:1) F 1.60-2.12, f 15.30-24.64 mm (1.09-1.77:1) F 1.60-2.12, f 15.30-24.64 mm (1.09-1.77:1)

Lens shift - [fixed] - [fixed] Vertical: +44 % (manual) Vertical: +44 % (manual)

Filter Replacement Cycle 20,000 hours 20,000 hours 7,000 hours 7,000 hours

Installation
Ceiling/floor, front/rear, 
free 360-degree installation

Ceiling/floor, front/rear, 
free 360-degree installation

Ceiling/floor, front/rear Ceiling/floor, front/rear

Terminals HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 (for Memory Viewer/
 power supply (DC 5 V, up to 2 A)/
 optional Wireless Module)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in [D-sub HD 15-pin x 1]
Audio in 1/2 [M3 x 2]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 (for Memory Viewer/
 power supply (DC 5 V, up to 2 A)/
 optional Wireless Module)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN/DIGITAL LINK [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Pairing)]
USB [USB type-B x 1 (for USB display)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for power supply (DC 5 V, up to 2 A))]

Power supply 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 120 V AC, 50/60 Hz (North America),
110 V AC, 60 Hz (Taiwan),
100-240 V AC, 50/60 Hz (other countries)

120 V AC, 50/60 Hz (North America),
110 V AC, 60 Hz (Taiwan),
100-240 V AC, 50/60 Hz (other countries)

Maximum power consumption 230 W 230 W 400 W (North America),
410 W (other countries)

400 W (North America),
410 W (other countries)

Built-in speaker 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural)

Operation noise 35 dB (NORMAL/ECO)/24 dB (QUIET) 33 dB (NORMAL/ECO)/23 dB (QUIET) 37 dB (NORMAL)/35 dB (ECO1)/29 dB (ECO2) 37 dB (NORMAL)/35 dB (ECO1)/29 dB (ECO2)

Dimensions (W x H1 x D) 349 x 105 x 309 mm
(13-3/4 x 4-1/8 x 12-5/32 in)

349 x 105 x 309 mm
(13-3/4 x 4-1/8 x 12-5/32 in)

389 x 125 x 332 mm
(15-5/16 x 4-29/32 x 13-1/16 in)

389 x 125 x 332 mm
(15-5/16 x 4-29/32 x 13-1/16 in)

Weight2 Approx. 4.2 kg/9.26 lbs Approx. 4.2 kg/9.26 lbs Approx. 4.9 kg/10.8 lbs Approx. 4.8 kg/10.6 lbs

Replacement lamp - (No lamp) - (No lamp) ET-LAV400 ET-LAEF100
Optional accessories ET-PKL100H (High ceiling mount bracket)

ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL400 (Replacement filter unit)
AJ-WM50 (Wireless Module)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL400 (Replacement filter unit)
AJ-WM50 (Wireless Module)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKV400B (Bracket assembly)
ET-RFV410 (Replacement filter unit)
ET-YFB200G (DIGITAL LINK Switcher)
ET-YFB100G (Digital Interface Box)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKV400B (Bracket assembly)
ET-RFV410 (Replacement filter unit)

NEWNEW

33

5,000 lm 5,000 lmWUXGA WUXGA4,200 lm4,600 lm XGAXGA

44

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e

Portable

25 26



1: The usage environment affects the lamp replacement cycle. 
2: Height: with legs at shortest position.
3: Average value. Each product has an individual variable in weight.

4: The availability varies depending on the country.
5: To operate wireless projection, the optional Wireless Module ET-WML100/AJ-WM50 is required.
6: Stock limited.

PT-VX615N PT-VX610 PT-VW360 PT-VX430 PT-LW376

Projector type LCD Projector LCD Projector LCD Projector LCD Projector LCD Projector

LCD panel Panel size 16.0 mm (0.63 in) 16.0 mm (0.63 in) 15.0 mm (0.59 in) 16.0 mm (0.63 in) 15.0 mm (0.59 in)

Aspect ratio 4:3 4:3 16:10 4:3 16:10

Number of pixels 786,432 (1,024 x 768) pixels 786,432 (1,024 x 768) pixels 1,024,000 (1,280 x 800) pixels 786,432 (1,024 x 768) pixels 1,024,000 (1,280 x 800) pixels

Light source 280 W UHM Lamp 280 W UHM Lamp 240 W UHM Lamp 240 W UHM Lamp 230 W UHM Lamp

Light output 5,500 lm 5,500 lm 4,000 lm 4,500 lm 3,600 lm

Time until light output 
declines to 50%1

5,000 hours (NORMAL)/6,000 hours (ECO1)/
7,000 hours (ECO2)

5,000 hours (NORMAL)/6,000 hours (ECO1)/
7,000 hours (ECO2)

5,000 hours (NORMAL)/
7,000 hours (ECO)

5,000 hours (NORMAL)/
7,000 hours (ECO)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

Resolution XGA (1,024 x 768) XGA (1,024 x 768) WXGA (1,280 x 800) XGA (1,024 x 768) WXGA (1,280 x 800)

Contrast ratio (full on/full o!) 16,000:1 16,000:1 20,000:1 20,000:1 20,000:1

Screen size (diagonal) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in)

Lens (throw ratio) F 1.60-1.90, f 15.31-24.64 mm (1.17-1.90:1) F 1.60-1.90, f 15.31-24.64 mm (1.17-1.90:1) F 1.60-1.90, f 15.31-26.24 mm (1.2-1.9:1) F 1.60-1.90, f 15.31-26.24 mm (1.2-1.9:1) F 1.60-1.76, f 19.16-23.02 mm (1.48-1.78:1)

Lens shift Vertical: +40 % (manual) Vertical: +40 % (manual) 49:1 (fixed) 9:1 (fixed) 6:1 [fixed]

Filter Replacement Cycle 7,000 hours 7,000 hours 7,000 hours 7,000 hours 5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

Installation Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear

Terminals HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN/DIGITAL LINK [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Pairing)]
USB [USB type-B x 1 (for USB display)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for power supply (DC 5 V, up to 2 
A))]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module)]
USB [USB type-B x 1 (for USB display)]

HDMI 1/2 in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1/2 [M3 x 2]
Audio in 3 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module)]
USB [USB type-B x 1 (for USB display)]

HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 
1]Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

Power supply 120 V AC, 50/60 Hz (North America),
110 V AC, 60 Hz (Taiwan),
100-240 V AC, 50/60 Hz (other countries)

120 V AC, 50/60 Hz (North America),
110 V AC, 60 Hz (Taiwan),
100-240 V AC, 50/60 Hz (other countries)

100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz

Maximum power consumption 385 W (North America),
400 W (other countries)

385 W (North America),
400 W (other countries)

320 W 320 W 300 W

Built-in speaker 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural)

Operation noise 37 dB (NORMAL)/35 dB (ECO1)/29 dB (ECO2) 37 dB (NORMAL)/35 dB (ECO1)/29 dB (ECO2) 37 dB (NORMAL)/29 dB (ECO) 37 dB (NORMAL)/29 dB (ECO) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET)

Dimensions (W x H2 x D) 389 x 125 x 332 mm
(15-5/16 x 4-29/32 x 13-1/16 in)

389 x 125 x 332 mm
(15-5/16 x 4-29/32 x 13-1/16 in)

352 x 98 x 279 mm
(13-27/32 x 3-27/32 x 10-31/32 in)

352 x 98 x 279 mm
(13-27/32 x 3-27/32 x 10-31/32 in)

335 x 96 x 252 mm
(13-3/16 x 3-25/32 x 9-29/32 in)

Weight3 Approx. 4.9 kg/10.8 lbs Approx. 4.8 kg/10.6 lbs Approx. 3.3 kg/7.3 lbs Approx. 3.3 kg/7.3 lbs Approx. 2.9 kg/6.4 lbs

Replacement lamp ET-LAV400 ET-LAV400 ET-LAV300 ET-LAV300 ET-LAL510

Optional accessories ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKV400B (Bracket assembly)
ET-RFV410 (Replacement filter unit)
ET-YFB200G (DIGITAL LINK Switcher)
ET-YFB100G (Digital Interface Box)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKV400B (Bracket assembly)
ET-RFV410 (Replacement filter unit)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKV400B (Bracket assembly)
ET-RFV300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML100 (Wireless Module)6
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKV400B (Bracket assembly)
ET-RFV300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML100 (Wireless Module)6
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML100 (Wireless Module)6
ET-ADSV (D-Sub/S-VIDEO conversion cable)

4,000 lm 4,500 lm 3,600 lmWXGA XGA WXGA

55 5

5,500 lm XGA5,500 lm XGA

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e

Portable

27 28



1: The usage environment affects the lamp replacement cycle. 
2: Height: with legs at shortest position.
3: Average value. Each product has an individual variable in weight.

4: To operate wireless projection, the optional Wireless Module ET-WML100/AJ-WM50 is required. 
5: Stock limited. 
6: The availability varies depending on the country.

PT-LW336 PT-LB426 PT-LB386 PT-LB356 PT-LB3066

Projector type LCD Projector LCD Projector LCD Projector LCD Projector LCD Projector

LCD panel Panel size 15.0 mm (0.59 in) 16.0 mm (0.63 in) 16.0 mm (0.63 in) 16.0 mm (0.63 in) 16.0 mm (0.63 in)

Aspect ratio 16:10 4:3 4:3 4:3 4:3

Number of pixels 1,024,000 (1,280 x 800) pixels 786,432 (1,024 x 768) pixels 786,432 (1,024 x 768) pixels 786,432 (1,024 x 768) pixels 786,432 (1,024 x 768) pixels

Light source 230 W UHM Lamp 230 W UHM Lamp 230 W UHM Lamp 230 W UHM Lamp 230 W UHM Lamp

Light output 3,100 lm 4,100 lm 3,800 lm 3,300 lm 3,100 lm

Time until light output 
declines to 50%1 

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

Resolution WXGA (1,280 x 800) XGA (1,024 x 768) XGA (1,024 x 768) XGA (1,024 x 768) XGA (1,024 x 768)

Contrast ratio (full on/full o!) 20,000:1 20,000:1 20,000:1 20,000:1 20,000:1

Screen size (diagonal) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in) 0.76-7.62 m (30-300 in)

Lens (throw ratio) F 2.1-2.24, f 19.11-22.94 mm (1.47-1.77:1) F 1.60-1.76, f 19.16-23.02 mm (1.48-1.78:1) F 1.60-1.76, f 19.16-23.02 mm (1.48-1.78:1) F 1.60-1.76, f 19.16-23.02 mm (1.48-1.78:1) F 2.1-2.24, f 19.11-22.94 mm (1.47-1.77:1)

Lens shift 6:1 [fixed] 6:1 [fixed] 6:1 [fixed] 6:1 [fixed] 6:1 [fixed]

Filter Replacement Cycle 5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

Installation Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear

Terminals HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

HDMI in [HDMI 19-pin x 1]
Computer in [D-sub HD 15-pin x 1]
Monitor out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
USB [USB type-B x 1 (for service use)]

Power supply 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz

Maximum power consumption 300 W 300 W 300 W 300 W 300 W

Built-in speaker 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 2.0 W (monaural)

Operation noise 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET)

Dimensions (W x H2 x D) 335 x 96 x 252 mm
(13-3/16 x 3-25/32 x 9-29/32 in)

335 x 96 x 252 mm
(13-3/16 x 3-25/32 x 9-29/32 in)

335 x 96 x 252 mm
(13-3/16 x 3-25/32 x 9-29/32 in)

335 x 96 x 252 mm
(13-3/16 x 3-25/32 x 9-29/32 in)

335 x 96 x 252 mm
(13-3/16 x 3-25/32 x 9-29/32 in)

Weight3 Approx. 2.9 kg/6.4 lbs Approx. 2.9 kg/6.4 lbs Approx. 2.9 kg/6.39 lbs Approx. 2.9 kg/6.39 lbs Approx. 2.8 kg/6.17 lbs

Replacement lamp ET-LAL510 ET-LAL510 ET-LAL510 ET-LAL510 ET-LAL510

Optional accessories ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL420B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

Portable
3,800 lm 3,300 lmXGA XGA

4 4

3,100 lm XGA3,100 lm WXGA

4

4,100 lm XGA

4

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e

Portable

29 30





Short Throw

1: The usage environment affects the lamp replacement cycle. 
2: Height: with legs at shortest position.
3: Average value. Each product has an individual variable in weight.

4: To operate wireless projection, the optional Wireless Module ET-WML100/AJ-WM50 is required.
5: Stock limited.
6: The availability varies depending on the country.

PT-TW381R PT-TW380 PT-TX4406 PT-TX3506

Projector type LCD Projector LCD Projector LCD Projector LCD Projector
LCD panel Panel size 15.0 mm (0.59 in) 15.0 mm (0.59 in) 16.0 mm (0.63 in) 16.0 mm (0.63 in)

Aspect ratio 16:10 16:10 4:3 4:3

Number of pixels 1,024,000 (1,280 x 800) pixels 1,024,000 (1,280 x 800) pixels 786,432 (1,024 x 768) pixels 786,432 (1,024 x 768) pixels

Light source 230 W UHM Lamp 230 W UHM Lamp 230 W UHM Lamp 230 W UHM Lamp

Light output 3,300 lm 3,300 lm 3,800 lm 3,200 lm

Time until light output 
declines to 50%1 

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

10,000 hours (NORMAL)/20,000 hours (ECO)/
10,000 hours (QUIET)

Resolution WXGA (1,280 x 800) WXGA (1,280 x 800) XGA (1,024 x 768) XGA (1,024 x 768)

Contrast ratio (full on/full o!) 20,000:1 20,000:1 20,000:1 20,000:1

Screen size (diagonal) 1.27-2.54 m (50-100 in) 1.27-2.54 m (50-100 in) 1.27-2.54 m (50-100 in) 1.27-2.54 m (50-100 in)

Lens (throw ratio) F 1.8, f 6.08 mm (0.46:1) F 1.8, f 6.08 mm (0.46:1) F 1.8, f 6.08 mm (0.46:1) F 1.8, f 6.08 mm (0.46:1)
Lens shift 6:1 [fixed] 6:1 [fixed] 6:1 [fixed] 6:1 [fixed]

Filter Replacement Cycle
5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

5,000 hours (NORMAL)/6,000 hours (ECO)/
10,000 hours (QUIET)

Installation Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear Ceiling/floor, front/rear
Terminals HDMI in [HDMI 19-pin x 2]

Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]
Mini USB [Mini USB x 1, 
 (for interactive function)]

HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

HDMI in [HDMI 19-pin x 2]
Computer 1 in [D-sub HD 15-pin x 1]
Computer 2 in/1 out [D-sub HD 15-pin x 1]
Video in [Pin jack x 1]
Audio in 1 [M3 x 1]
Audio in 2 [Pin jack x 2 (L, R)]
Audio out [M3 x 1]
Serial in [D-sub 9-pin x 1 (RS-232C)]
LAN [RJ-45 x 1]
USB [USB type-A x 1 
 (for Memory Viewer/Wireless Module/
 power supply (DC 5 V, up to 2 A))]

Power supply 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz 100-240 V AC, 50/60 Hz
Maximum power consumption 300 W 300 W 300 W 300 W
Built-in speaker 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural) 10.0 W (monaural)
Operation noise 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET) 38 dB (NORMAL)/35 dB (ECO)/30 dB (QUIET)

Dimensions (W x H2 x D) 335 x 134.1 x 329 mm
(13-3/16 x 5-9/32 x 12-15/16 in)

335 x 134.1 x 329 mm
(13-3/16 x 5-9/32 x 12-15/16 in)

335 x 134.1 x 329 mm
(13-3/16 x 5-9/32 x 12-15/16 in)

335 x 134.1 x 329 mm
(13-3/16 x 5-9/32 x 12-15/16 in)

Weight3 Approx. 3.9 kg/8.6 lbs Approx. 3.9 kg/8.6 lbs Approx. 3.9 kg/8.6 lbs Approx. 3.9 kg/8.6 lbs

Replacement lamp ET-LAL510 ET-LAL510 ET-LAL510 ET-LAL510
Optional accessories ET-PKL100H (High ceiling mount bracket)

ET-PKL100S (Low ceiling mount bracket)
ET-PKL430B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)
ET-PEN100 (Interactive Light pen)
ET-PNT100 (Interactive Pointer)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL430B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL430B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

ET-PKL100H (High ceiling mount bracket)
ET-PKL100S (Low ceiling mount bracket)
ET-PKL430B (Bracket assembly)
ET-RFL300 (Replacement filter unit)
AJ-WM50 (Wireless Module)
ET-WML1005 (Wireless Module)
ET-ADSV (D-Sub/S-VIDEO conversion cable)

3,300 lm3,300 lm 3,800 lm 3,200 lmWXGAWXGA XGA XGA

44 4 4

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e

Short Throw

33 34



Optional Lenses for the PT-RQ50K Projector (Large-Venue)

:Featuring Auto Lens Identification Function* :Stepping Motor for zoom in addition to focus.

Throw Ratio

ET-D3QW200

ET-D3QW300

ET-D3QS400

ET-D3QT500

ET-D3QT600

ET-D3QT700

ET-D3QT800

4K (1.43-2.09:1)
WUXGA (1.70-2.48:1)
4K (1.43-2.09:1)
WUXGA (1.70-2.48:1)

1.0 2.0 3.0 4.0 6.0 9.0

4K (2.00-3.41:1)
WUXGA (2.36-4.03:1)
4K (2.00-3.41:1)
WUXGA (2.36-4.03:1)

4K (2.69-3.88:1)
WUXGA (3.19-4.60:1)
4K (2.69-3.88:1)
WUXGA (3.19-4.60:1)

4K (3.89-5.47:1)
WUXGA (4.61-6.49:1)
4K (3.89-5.47:1)
WUXGA (4.61-6.49:1)

4K (4.97-7.76:1)
WUXGA (5.89-9.21:1)
4K (4.97-7.76:1)
WUXGA (5.89-9.21:1)

4K (0.548–0.650:1)
WUXGA (0.652–0.772:1)
4K (0.548–0.650:1)
WUXGA (0.652–0.772:1)

4K (1.11-1.70:1)
WUXGA (1.32-2.02:1)
4K (1.11-1.70:1)
WUXGA (1.32-2.02:1)

Lens type Zoom lens Zoom lens Zoom lens Zoom lens

Model number ET-D3QW200 ET-D3QW300 ET-D3QS400 ET-D3QT500

F-number 2.5 2.5 2.5 2.5
Focal length 17.5-20.7 mm 35.2-53.7 mm 45.3-65.6 mm 61.4-105.2 mm
Weight Approx. 11.3 kg/24.9 lbs Approx. 9.3 kg/20.5 lbs Approx. 8.5 kg/18.7 lbs Approx. 9.6 kg/21.2 lbs

Lens type Zoom lens Zoom lens Zoom lens

Model number ET-D3QT600 ET-D3QT700 ET-D3QT800

F-number 2.5 2.5 2.5
Focal length 85.0-121.6 mm 122.8-172.3 mm 156.5-243.1 mm
Weight Approx. 6.4 kg/14.1 lbs Approx. 7.3 kg/16.1 lbs Approx. 8.0 kg/17.6 lbs

* Calibration is required each time the lens is mounted.

ID M

IDIDID

IDIDID

MMM

MMM

The Throw Distance Calculator should help you out. Please try it.
>>> panasonic.net/cns/projector/download/#calculator

35 36

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e





Optional Lenses for 1-Chip DLP™ Projector (Installation)

Lens type Zoom lens Fixed-focus lens Fixed-focus lens Zoom lens

Model number ET-DLE020 ET-DLE035 ET-DLE055 ET-DLE060

F-number 2.0 2.0 1.8 1.9-2.3
Focal length 4.1-4.4 mm 5.3 mm 11.9 mm 9.2-12.1 mm
Weight Approx. 3.2 kg/7.05 lbs Approx. 1.3 kg/3.1 lbs Approx. 0.8 kg/1.8 lbs Approx. 1.3 kg/2.9 lbs

Lens type Zoom lens Zoom lens Zoom lens Zoom lens (supplied lens)1

Model number ET-DLE085 ET-DLE105 ET-DLE150 ET-DLE170

F-number 1.9-2.2 1.9-2.4 1.8-2.4 1.7-1.9
Focal length 11.8-14.6 mm 14.7-19.7 mm 19.4-27.9 mm 25.6-35.7 mm
Weight Approx. 1.3 kg/2.9 lbs Approx. 1.2 kg/2.6 lbs Approx. 1.1 kg/2.4 lbs Approx. 0.9 kg/2.0 lbs

Lens type Zoom lens Zoom lens Zoom lens

Model number ET-DLE250 ET-DLE350 ET-DLE450

F-number 1.8-2.4 1.8-2.2 1.8-2.4
Focal length 33.9-53.2 mm 52.8-79.5 mm 79.5-125.2 mm
Weight Approx. 1.0 kg/2.2 lbs Approx. 1.1 kg/2.4 lbs Approx. 1.3 kg/2.9 lbs

Optional Lenses Compatibility Chart

ET
-D

LE
02

0

ET
-D

LE
03

5

ET
-D

LE
05

5

ET
-D

LE
06

0

ET
-D

LE
08

5

ET
-D

LE
10

5

ET
-D

LE
15

0

ET
-D

LE
17

0

ET
-D

LE
25

0

ET
-D

LE
35

0

ET
-D

LE
45

0

PT-RCQ10 ✓✓2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-RCQ80 ✓✓2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-RZ120 ✓✓2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-RZ990 ✓✓2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-RZ890 ✓✓2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-RZ790 ✓✓2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-RZ690 ✓✓2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

ET-DLE020

ET-DLE035

ET-DLE055

ET-DLE060

ET-DLE085

ET-DLE105

ET-DLE150

ET-DLE170

ET-DLE250

ET-DLE350

ET-DLE450

WUXGA (0.380:1)WUXGA (0.380:1)

1.0 2.0 3.0 4.0 6.0 9.0

WUXGA (5.36-8.58:1)WUXGA (5.36-8.58:1)

WUXGA (0.785:1)WUXGA (0.785:1)

WUXGA (0.600-0.801:1)WUXGA (0.600-0.801:1)

WUXGA (0.782-0.977:1)WUXGA (0.782-0.977:1)

WUXGA (0.978-1.32:1)WUXGA (0.978-1.32:1)

WUXGA (1.30-1.89:1)WUXGA (1.30-1.89:1)

WUXGA (1.71-2.41:1)WUXGA (1.71-2.41:1)

WUXGA (2.27-3.62:1)WUXGA (2.27-3.62:1)

WUXGA (3.58-5.45:1)WUXGA (3.58-5.45:1)

WUXGA (0.280-0.299:1)WUXGA (0.280-0.299:1)

Throw Ratio

1: The ET-DLE170 is equivalent of supplied lens. Availability varies depending on the country.
2: Projector may require the latest firmware update.

The Throw Distance Calculator should help you out. Please try it.
>>> panasonic.net/cns/projector/download/#calculator

39 40

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Optional Lenses for the PT-MZ20K Series Projector1 (Installation)

Lens type Zoom lens Zoom lens Zoom lens Zoom lens

Model number ET-EMU100 ET-EMW200 ET-EMW300 ET-EMW400

F-number 1.9 1.8-2.1 1.8-2.2 1.8-2.2
Focal length 7.2-7.7 mm 10.8-12.5 mm 12.3-15.4 mm 15.3-21.1 mm
Weight Approx. 7.2 kg/15.87 lbs Approx. 5.20 kg/11.46 lbs Approx. 5.20 kg/11.46 lbs Approx. 5.05 kg/11.13 lbs

Lens type Zoom lens Zoom lens Zoom lens Zoom lens

Model number ET-EMW500 ET-EMS650 ET-EMT750 ET-EMT850

F-number 1.8-2.4 1.8-2.2 1.8-2.5 1.9-2.4
Focal length 21.1-30.0 mm 29.9-46.3 mm 46.0-90.5 mm 90.3-162.6 mm
Weight Approx. 5.15 kg/11.35 lbs Approx. 3.71 kg /8.18 lbs Approx. 4.59 kg /10.12 lbs Approx. 4.45 kg /9.81 lbs

Optional Lenses Compatibility Chart

ET
-E

M
U

10
0

ET
-E

M
W

20
0

ET
-E

M
W

30
0

ET
-E

M
W

40
0

ET
-E

M
W

50
0

ET
-E

M
S6

50

ET
-E

M
T7

50

ET
-E

M
T8

50

PT-MZ17K ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-MZ14K ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓
PT-MZ11K ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

WUXGA (0.550-0.690:1)WUXGA (0.550-0.690:1)

1.0 2.0 3.0 4.0 6.0 9.0

WUXGA (0.690-0.950:1)WUXGA (0.690-0.950:1)

WUXGA (0.950-1.36:1)WUXGA (0.950-1.36:1)

WUXGA (1.35-2.10:1)WUXGA (1.35-2.10:1)

WUXGA (2.10-4.14:1)WUXGA (2.10-4.14:1)

WUXGA (4.14-7.40:1)WUXGA (4.14-7.40:1)

WUXGA (0.480-0.550:1)WUXGA (0.480-0.550:1)

ET-EMU100

ET-EMW200

ET-EMW300

ET-EMW400

ET-EMW500

ET-EMS650

ET-EMT750

ET-EMT850

WUXGA (0.330–0.353:1)WUXGA (0.330–0.353:1)

Throw Ratio

1: PT-MZ20K (20,000 lm) available from CY2023 2Q.
Please refer to the website below for detailed specification.
https://panasonic.net/cns/projector/products/mz20k/

The Throw Distance Calculator should help you out. Please try it.
>>> panasonic.net/cns/projector/download/#calculator

Available from CY2023 1Q Available from CY2023 1Q Available from CY2023 1Q

41 42

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Optional Lenses for LCD Projector1 (Installation)

Lens type Zoom lens Fixed-focus lens Zoom lens Zoom lens

Model number ET-ELU20 ET-ELW21 ET-ELW22 ET-ELW20

F-number 2.0 2.0 2.0-2.4 1.8-2.3
Focal length 5.4-5.8 mm 13.1 mm 13.3-16.6 mm 20.4-27.6 mm
Weight Approx. 4.0 kg/8.82 lbs Approx. 1.08 kg/2.4 lbs Approx. 1.20 kg/2.7 lbs Approx. 1.20 kg/2.6 lbs

Lens type Zoom lens (supplied lens)2 Zoom lens Zoom lens

Model number ET-ELS20 ET-ELT22 ET-ELT23

F-number 1.7-2.3 1.8-2.3 1.8-2.3
Focal length 26.9-45.4 mm 45.6-73.8 mm 74.8-118.2 mm
Weight Approx. 0.9 kg/2.0 lbs Approx. 1.18 kg/2.6 lbs Approx. 1.20 kg/2.6 lbs

Optional Lenses Compatibility Chart

PT-MZ880 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - -
PT-MZ780 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - -
PT-MZ680 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - -
PT-EZ770Z - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - -
PT-EW730Z - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - -
PT-EX800Z - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - -
PT-EZ590 - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓
PT-EW650 - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓
PT-EW550 - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓
PT-EX620 - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓
PT-EX520 - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓

ET
-E

LU
20

ET
-E

LW
21

ET
-E

LW
22

ET
-E

LW
20

ET
-E

LS
20

ET
-E

LT
22

ET
-E

LT
23

ET
-E

LW
31

ET
-E

LW
30

ET
-E

LT
30

ET
-E

LT
31

Lens type Zoom lens Zoom lens Zoom lens Zoom lens

Model number ET-ELW31 ET-ELW30 ET-ELT30 ET-ELT31

F-number 1.7-2.0 1.7-2.0 1.7-2.2 1.7-2.3
Focal length 10.5-13.6 mm 13.1-17.0 mm 31.3-56.8 mm 56.4-101.7 mm
Weight Approx. 1.20 kg/2.6 lbs Approx. 1.20 kg/2.6 lbs Approx. 1.52 kg/3.4 lbs Approx. 1.55 kg/3.4 lbs

ET-ELU20

ET-ELW21

ET-ELW22

ET-ELW20

ET-ELS20

ET-ELT22

ET-ELT23

ET-ELW31

ET-ELW30

ET-ELT30

ET-ELT31

1.0 2.0 3.0 4.0 6.0 9.0

WUXGA (0.764:1)
WXGA (0.774:1)
XGA (0.776:1)

WUXGA (0.764:1)
WXGA (0.774:1)
XGA (0.776:1)

WUXGA (0.330–0.353:1)WUXGA (0.330–0.353:1)

WUXGA (0.786-0.983:1)
WXGA (0.789-0.987:1)
XGA (0.802-1.00:1)

WUXGA (0.786-0.983:1)
WXGA (0.789-0.987:1)
XGA (0.802-1.00:1)

WUXGA (1.21-1.66:1)
WXGA (1.23-1.68:1)
XGA (1.23-1.69:1)

WUXGA (1.21-1.66:1)
WXGA (1.23-1.68:1)
XGA (1.23-1.69:1)

WUXGA (1.61-2.76:1)
WXGA (1.63-2.79:1)
XGA (1.63-2.81:1)

WUXGA (1.61-2.76:1)
WXGA (1.63-2.79:1)
XGA (1.63-2.81:1)

WUXGA (2.72-4.48:1)
WXGA (2.76-4.54:1)
XGA (2.77-4.56:1)

WUXGA (2.72-4.48:1)
WXGA (2.76-4.54:1)
XGA (2.77-4.56:1)

WUXGA (4.44-7.12:1)
WXGA (4.49-7.21:1)
XGA (4.51-7.24:1)

WUXGA (4.44-7.12:1)
WXGA (4.49-7.21:1)
XGA (4.51-7.24:1)

WUXGA (0.733-0.958:1)
WXGA (0.733-0.958:1)
XGA (0.791-1.08:1)

WUXGA (0.733-0.958:1)
WXGA (0.733-0.958:1)
XGA (0.791-1.08:1)

WUXGA (0.960-1.22:1)
WXGA (0.922-1.21:1)
XGA (1.00-1.30:1)

WUXGA (0.960-1.22:1)
WXGA (0.922-1.21:1)
XGA (1.00-1.30:1)

WUXGA (2.23-4.02:1)
WXGA (2.22-4.03:1)
XGA (2.39-4.36:1)

WUXGA (2.23-4.02:1)
WXGA (2.22-4.03:1)
XGA (2.39-4.36:1)

WUXGA (4.02-7.20:1)
WXGA (4.02-7.28:1)
XGA (4.34-7.86:1)

WUXGA (4.02-7.20:1)
WXGA (4.02-7.28:1)
XGA (4.34-7.86:1)

Throw Ratio

1: Except for the PT-MZ16KL/MZ13KL/MZ10KL.
2: The ET-ELS20 is equivalent of supplied lens. Availability varies depending on the country.

The Throw Distance Calculator should help you out. Please try it.
>>> panasonic.net/cns/projector/download/#calculator

43 44

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Features

PT
-R

Q
50

K

PT
-R

Q
35

K

PT
-R

Z3
4K

PT
-R

Q
25

K

PT
-R

Z2
4K

PT
-R

Q
18

K

PT
-R

Z1
7K

PT
-R

Q
13

K

PT
-R

Z1
2K

PT
-R

CQ
10

PT
-R

CQ
80

PT
-R

Z1
20

PT
-R

Z9
90

PT
-R

Z8
90

PT
-R

Z7
90

PT
-R

Z6
90

PT
-F

R
Q

60

PT
-F

R
Q

50

PT
-F

R
Z6

0

PT
-F

R
Z5

0

PT
-F

R
Z5

5

Picture Quality
Detail Clarity Processor 5+ 5+ 5 5+ 5 5+ 5 5+ 5 3 3 3 3 3 3 3 4 4 3 3 3

System Daylight View 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 3 - - -

Dayilght View - - - - - - - - - - - - - - - - - - Basic Basic Basic

3D Ready - - ✓✓ - ✓✓ - ✓✓ - ✓✓ - - - - - - - - - - - -

HDR compatible ✓✓ ✓✓ - ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - -

Dynamic Contrast ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Dynamic Contrast NX - - - - - - - - - - - - - - - - - - - - -

Rich Color Harmonizer - - - - - - - - - ✓✓ ✓✓ - - - - - - - - - -

Rich Color Enhancer - - - - - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Pure White Generator - - - - - - - - - - - - - - - - - - - - -

240Hz content playback - ✓✓ - - - - - - - - - - - - - - ✓✓ ✓✓ - - -

Reliability
24/7 operation ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Backup Input ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

Filter-Less ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Installation
Geometric Adjustment ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - -

Free Grid ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - -

Edge Blending/Color Matching ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Multi-Unit Brightness and Color Control ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

360-degree free installation ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Contrast Sync and Shutter Sync ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

Corner Keystone ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Curved Screen Correction ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Function
Mechanical Shutter ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Data Cloning Function ✓✓ ✓✓1 ✓✓1 ✓✓ ✓✓ ✓✓ ✓✓ - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

DIGITAL LINK ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Wireless Function ✓✓2 ✓✓2 ✓✓2 ✓✓2 ✓✓2 ✓✓2 ✓✓2 - - ✓✓2 ✓✓2 - - - - - ✓✓2 ✓✓2 - - -

Mirroring Function - - - - - - - - - - - - - - - - - - - - -

USB Memory Viewer - - - - - - - - - - - - - - - - - - - - -

USB Memory Viewer Light - - - - - - - - - - - - - - - - - - - - -

P-in-P - - ✓✓ - - - - - ✓✓ - - - - - - - - - - - -

Emulation - - - - - - - - - - - - - - - - - - - - -

Software
Geometry Manager Pro ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

Smart Projector Control ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

Multi Monitoring & Control Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Wireless Manager - - - - - - - - - - - - - - - - - - - - -

Plug and Share - - - - - - - - - - - - - - - - - - - - -

Presenter Light - - - - - - - - - - - - - - - - - - - - -

Logo Transfer Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Projector Network Setup Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓3 ✓✓3 ✓✓3

Features (Large-Venue, Installation)

1: Firmware will be available from February 2021. 2: To operate wireless function, the optional Wireless Module is required. 
3: Projector Network Setup Software can be set when the main version of the firmware is 1.04 or higher.

45 46

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Features

PT
-M

Z1
7K

PT
-M

Z1
4K

PT
-M

Z1
1K

PT
-M

Z8
80

PT
-M

Z7
80

PT
-M

Z6
80

PT
-E

Z7
70

Z

PT
-E

W
73

0Z

PT
-E

X
80

0Z

PT
-E

Z5
7

PT
-E

Z5
90

PT
-E

W
65

0

PT
-E

W
55

0

PT
-E

X
62

0

PT
-E

X
52

0

PT
-F

Z5
70

PT
-F

W
53

0

PT
-F

X
50

0

Picture Quality
Detail Clarity Processor 4 4 4 4 4 4 - - - - - - - - - - - -

System Daylight View 3 3 3 - - - - - - - - - - - - - - -

Dayilght View - - - Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic

3D Ready - - - - - - - - - - - - - - - - - -

HDR compatible - - - - - - - - - - - - - - - - - -

Dynamic Contrast ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Dynamic Contrast NX ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - -

Rich Color Harmonizer - - - - - - - - - - - - - - - - - -

Rich Color Enhancer - - - - - - - - - - - - - - - - - -

Pure White Generator ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - -

240Hz content playback - - - - - - - - - - - - - - - - - -

Reliability
24/7 operation - - - ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Backup Input ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - -

Filter-Less - - - - - - - - - - - - - - - - - -

Installation
Geometric Adjustment ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Free Grid ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Edge Blending/Color Matching ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Multi-Unit Brightness and Color Control - - - - - - - - - - - - - - - - - -

360-degree free installation ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Contrast Sync and Shutter Sync ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Corner Keystone ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Curved Screen Correction ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Function
Mechanical Shutter - - - - - - ✓✓ ✓✓ ✓✓ - ✓✓ ✓✓ - ✓✓ ✓✓ - - -

Data Cloning Function ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

DIGITAL LINK ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ - ✓✓ ✓✓ ✓✓

Wireless Function ✓✓1 ✓✓1 ✓✓1 - - - - - - ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1

Mirroring Function - - - - - - - - - - - - - - - - - -

USB Memory Viewer - - - - - - - - - - - - - - - - - -

USB Memory Viewer Light - - - - - - - - - - - - - - - - - -

P-in-P - - - - - - ✓✓ ✓✓ ✓✓ - - - - - - - - -

Emulation - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Software
Geometry Manager Pro ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Smart Projector Control ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Multi Monitoring & Control Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Wireless Manager - - - - - - - - - - - - - - - - - -

Plug and Share - - - - - - - - - - - - - - - - - -

Presenter Light - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Logo Transfer Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Projector Network Setup Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Features (Installation)

1: To operate wireless function, the optional Wireless Module is required.

47 48

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Features

PT
-V

M
Z7

1

PT
-V

M
Z6

1

PT
-V

M
Z5

1

PT
-V

M
Z5

1S

PT
-L

M
Z4

60

PT
-L

M
Z4

20

PT
-L

M
W

46
0

PT
-L

M
W

42
0

PT
-L

M
X

46
0

PT
-L

M
X

42
0

PT
-V

Z5
85

N

PT
-V

Z5
80

PT
-V

X
61

5N

PT
-V

X
61

0

PT
-V

W
36

0

PT
-V

X
43

0

PT
-L

W
37

6

PT
-L

W
33

6

PT
-L

B
42

6

PT
-L

B
38

6

PT
-L

B
35

6

PT
-L

B
30

6

PT
-T

M
Z4

00

PT
-T

M
W

38
0

PT
-T

M
X3

80

PT
-T

W
38

1R

PT
-T

W
38

0

PT
-T

X
44

0

PT
-T

X
35

0

Picture Quality
Detail Clarity Processor - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

System Daylight View - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Dayilght View Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Basic Lite Lite Lite Lite Lite Lite Basic Basic Basic Lite Lite Lite Lite

3D Ready - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

HDR compatible - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Dynamic Contrast ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - -

Dynamic Contrast NX - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Rich Color Harmonizer - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Rich Color Enhancer - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Pure White Generator - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

240Hz content playback - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Reliability
24/7 operation ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - - - - - - - - - - - -

Backup Input - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Filter-Less - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Installation
Geometric Adjustment - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - -

Free Grid - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Edge Blending/Color Matching - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Multi-Unit Brightness and Color Control - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

360-degree free installation ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - -

Contrast Sync and Shutter Sync - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Corner Keystone ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Curved Screen Correction ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Function
Mechanical Shutter - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Data Cloning Function - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

DIGITAL LINK ✓✓ ✓✓ ✓✓ - - - - - - - ✓✓ - ✓✓ - - - - - - - - - - - - - - - -

Wireless Function ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓ - ✓✓ - ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 - ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1 ✓✓1

Mirroring Function - - - - - - - - - - ✓✓ - ✓✓ - - - - - - - - - - - - - - - -

USB Memory Viewer - - - - - - - - - - ✓✓ - ✓✓ - - - - - - - - - - - - - - - -

USB Memory Viewer Light ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

P-in-P - - - - - - - - - - - - - - ✓✓ ✓✓ - - - - - - - - - - - - -

Emulation ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - ✓✓ ✓✓ ✓✓ - - - -

Software
Geometry Manager Pro - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Smart Projector Control - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Multi Monitoring & Control Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Wireless Manager - - - - - - - - - - ✓✓ - ✓✓ - - - - - - - - - - - - - - - -

Plug and Share - - - - - - - - - - ✓✓ - ✓✓ - - - - - - - - - - - - - - - -

Presenter Light ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Logo Transfer Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Projector Network Setup Software ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - -

1: To operate wireless function, the optional Wireless Module is required.

Features (Portable, Short Throw)

49 50

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Model Type Model Number

PT
-R

Q
50

K

PT
-R

Q
35

K

PT
-R

Z3
4K

PT
-R

Q
25

K

PT
-R

Z2
4K

PT
-R

Q
18

K

PT
-R

Z1
7K

PT
-R

Q
13

K

PT
-R

Z1
2K

Ceiling mount bracket
High ceiling mount bracket ET-PKD520H - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Low ceiling mount bracket ET-PKD520S - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Projector mount bracket ET-PKD521B - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Frame ET-PFD5101 - - - - - - - ✓✓ ✓✓

Replacement filter unit
Replacement filter unit ET-EMF330 - - - - - - - ✓✓ ✓✓

Smoke cut filter ET-SFR3302 - - - - - - - ✓✓ ✓✓

Wireless module
Wireless module AJ-WM50 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - -

Peripheral
DIGITAl LINK Switcher ET-YFB200G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Digital Interface Box ET-YFB100G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Software 

Early Warning Software ET-SWA100 Series3 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Geometry Manager Pro Upgrade Kit ET-UK20 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓ ✓✓

Auto Screen Adjustment Upgrade Kit ET-CUK10/CUK10P4 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓5 ✓✓ ✓✓

Interface board (SLOT NX)
DVI-D input signal board ET-MDNDV10 ✓✓ ✓✓ ✓✓ - - - - ✓✓ -

HDMI input signal board ET-MDNHM10 ✓✓ ✓✓ ✓✓ - - - - ✓✓ -

12G-SDI signal board ET-MDN12G10 ✓✓ ✓✓ ✓✓ - - - - ✓✓ -

3G-SDI input signal board TY-TBN03G - ✓✓ ✓✓ - - - - ✓✓ -

12G-SDI optical board ET-MDNFB10 ✓✓ ✓✓ ✓✓ - - - - - -

DisplayPort input signal board ET-MDNDP10 ✓✓ ✓✓ ✓✓ - - - - - -

Interface board (Intel® SDM) 
12G-SDI Terminal Board TY-SB01QS - - - ✓✓ ✓✓ ✓✓ ✓✓ - -

DIGITAL LINK Terminal Board TY-SB01DL - - - ✓✓ ✓✓ ✓✓ ✓✓ - -

Wireless Presentation System Receiver TY-SB01WP - - - ✓✓ ✓✓ ✓✓ ✓✓ - -

Optional Accessories for 3-Chip DLP™ Projector (Large-Venue)

1: This frame cannot be used when the separately sold ET-D75LE95 fixed focus lens is attached to the projector. 
2: The smoke cut filter is an air filter unit for an applicable Panasonic projector, for when the projector is used at events or other situation where smoke, fog 

or haze is being generated as a special effect.
3: The suffix of the model number differs according to the license type.
4: The availability varies depending on the country.
5: Features are pre-activated, no need for activation.

51 52

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Model Type Model Number

PT
-R

CQ
10

PT
-R

CQ
80

PT
-R

Z1
20

PT
-R

Z9
90

PT
-R

Z8
90

PT
-R

Z7
90

PT
-R

Z6
90

PT
-F

R
Q

60

PT
-F

R
Q

50

PT
-F

R
Z6

0

PT
-F

R
Z5

0

PT
-F

R
Z5

5

Ceiling mount bracket

High ceiling mount bracket 
with 6-axis adjustment mechanism ET-PKD130H1 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

Bracket assembly ET-PKD130B ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

High ceiling mount bracket ET-PKD120H ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Low ceiling mount bracket ET-PKD120S ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Wireless module
Wireless module AJ-WM50 ✓✓ ✓✓ - - - - - ✓✓ ✓✓ - - -

Peripheral
DIGITAl LINK Switcher ET-YFB200G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Digital Interface Box ET-YFB100G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

D-Sub/S-VIDEO conversion cable ET-ADSV - - - - - - - - - ✓✓ ✓✓ ✓✓

Software 

Early Warning Software ET-SWA100 Series2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Geometry Manager Pro Upgrade Kit ET-UK20 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

Auto Screen Adjustment Upgrade Kit ET-CUK10/CUK10P3 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - -

Interface board (SLOT NX)
DVI-D input signal board ET-MDNDV10 ✓✓ ✓✓ - - - - - - - - - -

HDMI input signal board ET-MDNHM10 ✓✓ ✓✓ - - - - - - - - - -

12G-SDI signal board ET-MDN12G10 ✓✓ ✓✓ - - - - - - - - - -

12G-SDI optical board ET-MDNFB10 ✓✓ ✓✓ - - - - - - - - - -

DisplayPort input signal board ET-MDNDP10 ✓✓ ✓✓ - - - - - - - - - -

Optional Accessories for 1-Chip DLP™ Projector (Installation)

1: Recommended when used with the ET-DLE035.
2: The suffix of the model number differs according to the license type.
3: The availability varies depending on the country.
4: Features are pre-activated, no need for activation.

53 54

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Model Type Model Number

PT
-M

Z1
7K

PT
-M

Z1
4K

PT
-M

Z1
1K

PT
-M

Z8
80

PT
-M

Z7
80

PT
-M

Z6
80

PT
-E

Z7
70

Z

PT
-E

W
73

0Z

PT
-E

X
80

0Z

PT
-E

Z5
7

PT
-E

Z5
90

PT
-E

W
65

0

PT
-E

W
55

0

PT
-E

X
62

0

PT
-E

X
52

0

PT
-F

Z5
70

PT
-F

W
53

0

PT
-F

X
50

0

Replacement lamp unit
400 W UHM lamp x 1 ET-LAE300 - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - -

320 W UHM lamp x 1 ET-LAEF100 - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Ceiling mount bracket

High ceiling mount bracket 
with 6-axis adjustment mechanism ET-PKD130H1 ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - -

High ceiling mount bracket ET-PKD120H ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Low ceiling mount bracket ET-PKD120S ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Bracket assembly ET-PKE301B ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Bracket assembly ET-PKE300B - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Replacement filter unit
Replacement filter unit ET-RFE300 - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - -

Replacement filter unit ET-RFF200 - - - - - - - - - - - - - - - ✓✓ ✓✓ ✓✓

Replacement filter unit ET-RFM100 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - -

Wireless module
Wireless module ET-WML1002 - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Wireless module AJ-WM50 ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - -

Peripheral
DIGITAl LINK Switcher ET-YFB200G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ - ✓✓ ✓✓ ✓✓

Digital Interface Box ET-YFB100G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ - ✓✓ ✓✓ ✓✓

D-Sub/S-VIDEO conversion cable ET-ADSV - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Software 

Early Warning Software ET-SWA100 Series4 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Geometry Manager Pro Upgrade Kit ET-UK20 ✓✓5 ✓✓5 ✓✓5 - - - - - - - - - - - - - - -

Auto Screen Adjustment Upgrade Kit ET-CUK10/CUK10P3 ✓✓5 ✓✓5 ✓✓5 - - - - - - - - - - - - - - -

Optional Accessories for LCD Projector (Installation)

1: Recommended when used with the ET-EMU100.
2: Stock limited.
3: The availability varies depending on the country.
4: The suffix of the model number differs according to the license type.
5: Features are pre-activated, no need for activation.

55 56

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e



Model Type Model Number

PT
-V

M
Z7

1

PT
-V

M
Z6

1

PT
-V

M
Z5

1

PT
-V

M
Z5

1S

PT
-L

M
Z4

60

PT
-L

M
Z4

20

PT
-L

M
W

46
0

PT
-L

M
W

42
0

PT
-L

M
X

46
0

PT
-L

M
X

42
0

PT
-V

Z5
85

N

PT
-V

Z5
80

PT
-V

X
61

5N

PT
-V

X
61

0

PT
-V

W
36

0

PT
-V

X
43

0

PT
-L

W
37

6

PT
-L

W
33

6

PT
-L

B
42

6

PT
-L

B
38

6

PT
-L

B
35

6

PT
-L

B
30

6

PT
-T

M
Z4

00

PT
-T

M
W

38
0

PT
-T

M
X3

80

PT
-T

W
38

1R

PT
-T

W
38

0

PT
-T

X
44

0

PT
-T

X
35

0

Replacement lamp unit
270 W UHM lamp x 1 ET-LAV400 - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - -

230 W UHM lamp x 1 ET-LAV300 - - - - - - - - - - - - - - ✓✓ ✓✓ - - - - - - - - - - - - -

230 W UHM lamp x 1 ET-LAL510 - - - - - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - ✓✓ ✓✓ ✓✓ ✓✓

Ceiling mount bracket
Bracket assembly ET-PKV400B ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - -

High ceiling mount bracket ET-PKL100H ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Low ceiling mount bracket ET-PKL100S ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Bracket assembly ET-PKL430B - - - - - - - - - - - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Bracket assembly ET-PKL420B - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - -

Replacement filter unit
Replacement filter unit ET-RFV500 ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - - - - - - - - - - - -

Replacement filter unit ET-RFV410 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - -

Replacement filter unit ET-RFV400 - - - - - - - - - - - - - - - - - - - - - - - - - - - - -

Replacement filter unit ET-RFV300 - - - - - - - - - - - - - - ✓✓ ✓✓ - - - - - - - - - - - - -

Replacement filter unit ET-RFL400 - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - -

Replacement filter unit ET-RFL300 - - - - - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - ✓✓ ✓✓ ✓✓ ✓✓

Wireless module
Wireless module ET-WML1001 - - - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - ✓✓ ✓✓ ✓✓ ✓✓

Wireless module AJ-WM50 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Easy wireless stick ET-UW100 - - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - - - - - - - - - - - - - -

Peripheral
DIGITAl LINK Switcher ET-YFB200G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - -

Digital Interface Box ET-YFB100G ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - - - - - - - ✓✓ ✓✓ ✓✓ - - - -

Interactive Light pen ET-PEN100 - - - - - - - - - - - - - - - - - - - - - - - - - ✓✓ - - -

Interactive Pointer ET-PNT100 - - - - - - - - - - - - - - - - - - - - - - - - - ✓✓ - - -

D-Sub/S-VIDEO conversion cable ET-ADSV - - - - - - - - - - - - - - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - - - ✓✓ ✓✓ ✓✓ ✓✓

Software 

Early Warning Software ET-SWA100 Series2 ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ - ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓ ✓✓

Optional Accessories for LCD Projector (Portable, Short Throw)

1: Stock limited.
2: The suffix of the model number differs according to the license type.

57 58

So
ftw

ar
e/

Ap
ps

Pr
es

sI
T

O
pt

io
ns

Fe
at

ur
es

Le
ns

es
Sh

or
t T

hr
ow

Po
rt

ab
le

In
st

al
la

tio
n

La
rg

e-
Ve

nu
e











All information included here is valid as of January 2023.

LINEUP-G55
Printed in Japan.

Note: Following the shift of the Panasonic Group to a holding company system, the 
Connected Solutions Company of the Panasonic Corporation has changed to 

Panasonic Connect Co., Ltd. as of April 1, 2022.

Mobile App -
The information of the Panasonic projectors and
professional displays from your iOS/Android devices.
panasonic.net/cns/prodisplays/support/mobile_app/

Weights and dimensions shown are approximate. Specifications and appearance 
are subject to change without notice. Product availability di!ers depending on 
region and country. These products may be subject to export control 
regulations. Measurement, measuring conditions, and method of notation all 
comply with ISO 21118 international standards. DLP is a trademark or registered 
trademark of Texas Instruments. The terms HDMI, HDMI High-Definition 
Multimedia Interface, HDMI Trade Dress and the HDMI Logos are trademarks 
or registered trademarks of HDMI Licensing Administrator, Inc. HDBaseT™ is 
a trademark of the HDBaseT Alliance. All other trademarks are the property of 
their respective trademark owners. Projection images simulated. © 2023 
Panasonic Connect Co., Ltd. All rights reserved.

For more information about Panasonic projectors
panasonic.net/cns/projector/
Panasonic projectors: facebook page
www.facebook.com/panasonicprojectoranddisplay/
Panasonic projectors: YouTube channel
www.youtube.com/user/PanasonicProjector


